Name: 4-Digit Column Addtion

( The Lazy Skeleton

Add to find the sums. Then solve
the riddle by matching the letters
to the blank lines below.

(E] 1,375
4,567
1,298
+ 345

—~PREVIEW~

: Please log in or register to download
*) the printable version of this worksheet.

(A] 4,556 3,465 ©o] 1,987 (L] 5,673
4,676 9.876 2,654 6,753
4,876 1,203 3.321 3.567

+4,567 +5023 +4,098 + /76

What do you call a skeleton who won't work?

16,769 18,675 16,653 19,567 18,456 12,060 24,430 7,585 27,012
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ANSWER KEY 4Digit Column Addion

( )
L The Lazy Skeleton )

Add to find the sums. Then solve
the riddle by matching the letters
to the blank lines below.

—~PREVIEW~

Please log in or register to download
the printable version of this worksheet.

What do you call a skeleton who won’t work?

L A Z Y B o) N E S
16,769 18,675 16,653 19,567 18,456 12,060 24,430 7,585 27,012
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